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First things first. What is your innovation? Can you describe it easily? Is it memorable?

You might feel that you can describe the benefit your innovation brings to the end user

or patient, but what about the person who buys your innovation?

Launching into a slick elevator pitch may not be the best approach when it comes to

speaking to the NHS about your innovation.
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1) Scene-setting

This will really help your audience (including buyers and decision-makers) to

understand the opportunity you are bringing to them.

You will need to cover:

what the innovation is

where you intend your innovation to be used within the health system

who the innovation is relevant to

what process or pathway your innovation supports or replaces

In this example we have used a hypothetical medical intervention for identifying

patients at risk of a stroke, but you can apply this kind of structure to any innovation

that you are developing.

Patients presenting at a GP practice suspected of atrial fibrillation will have a

history taken, relevant notes reviewed and a finger pulse check (pulse is checked

by the GP using a finger). When the pulse is believed to be varying, the patient

will be referred to secondary care for a more detailed examination.

This medical intervention is a portable device intended to be used in primary care

by GP practices, to identify patients at risk of a stroke arising from atrial

fibrillation. The device is worn by patients over a 7-day period monitoring the

heart rate continuously. This allows for a more accurate diagnosis of atrial

fibrillation to be made in comparison to the current method used to measure a

patients pulse in the GP surgery.

• 

• 

• 

• 

For example
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2) What is the problem or
unmet need?

You will need to describe the problem or unmet need that the innovation addresses.

What is the cause of the problem? What are the limitations, or inefficiencies of the

current best practice, or existing pathway of treatment (assuming there is an existing

approach to the problem your innovation is addressing)?

NHS Digital (now part of NHS England) manages healthcare data which can be used to

improve our understanding of health problems, and supports research and innovation.

Data can be made available to clinicians, researchers and commissioners to support the

development of new treatments and services. Explore the NHS Digital data dashboards

to find out more.

The current method to check a patient’s pulse, and determine if there is atrial

fibrillation, uses the finger and watch method. This can wrongly indicate that the

condition is either present (false positive) or absent (false negative). This new

method correctly identifies atrial fibrillation in approximately 75% of people with

the condition. It is able to correctly rule out atrial fibrillation in 85% of people

without the condition.

If you make a claim, you will need to provide the evidence that backs up this

claim. It can be evidence from your own research or evidence from someone else.

Multiple sources of evidence that back up these claims would strengthen the case.

For example

Information: 
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5

http://digital.nhs.uk/data
https://digital.nhs.uk/dashboards


3) What is the consequence
of the problem?

Describe how this unresolved problem or unmet need affects patients and NHS services,

even perhaps the whole population, including:

patient and staff experience

clinical outcomes

resource utilisation and service organisation

Details given here should be specific to the context of what your innovation addresses.

Avoid giving general details that may dilute the message about your innovation. The

details should directly relate to the issue(s) you have identified.

Using the current method of checking a patient’s pulse, approximately 25% of

patients are not referred to secondary care who should be (false negative) and

15% of patients who are referred are referred unnecessarily (false positive). For

those 25% of patients who are not picked up at this stage, their underlying

disease is likely to progress before being correctly diagnosed.

Of the patients who are not referred to secondary care but should be, 5% of

these patients (approximately 5,000 patients a year in the UK) will have a stroke

within the next 5 years. Those patients who are referred to secondary care

unnecessarily may experience anxiety over a false diagnosis, and will have

unnecessary and costly hospital trips.

• 

• 

• 

For example
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4) What is the intervention?

Describe your improvement. What will happen differently? How might that lead to a

reduction in the consequences of the problem? Include a description (if appropriate) of:

what the innovation is and how it works

how the service will be delivered

how patients will be identified

how the organisational change and the process of implementation will occur. This

includes any key enabling work, training and baseline measurements

any clinical pathway changes to be made in order to implement the innovation

GPs will identify patients with suspected atrial fibrillation from their history and

reported symptoms. This innovation is a portable device that patients wear over a

7-day period. The device will monitor the patient’s heart rate continuously whilst

they are wearing it.

GPs will need to be trained in using the device and interpreting the results, and

GP practices will need to store the device and consumables.

Improving the diagnostic accuracy in identifying patients with atrial fibrillation

will lead to patients being treated quicker, so that preventative measures are

started, reducing the risk of a future stroke.

• 

• 

• 

• 

• 

For example
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5) What is the impact,
benefit or difference in
outcome?

In this last section of building your value proposition, you will need to describe and

quantify (meaning the proportion and scale of) the improvements in patient or user

experience, patient outcomes or use of resources from this new way of working. Where

possible and relevant, describe the impact on patients, staff, services, organisations and

the wider health system. Examples of measures that you could use to demonstrate the

effectiveness of your innovation include:

clinical outcomes such as blood pressure, 1-year mortality, functional outcome,

adverse events

patient reported outcomes such as, quality of life, patient preferences, patient

satisfaction

service organisation such as length of stay in hospital, staff resource required, GP

attendances, hospital admissions, readmissions

Provide a comparative measure so that the impact your innovation is clear. For

example, provide figures for when the innovation is used, alongside figures for when

the alternative intervention or pathway is used, or provide a percentage for the

improvement.

Retain the original currency of the benefit and do not (at this stage) convert benefits

into a cash equivalent or number of bed stays saved.

In a pilot study a medical intervention was used by GPs visiting care homes, there

was a 20% reduction in emergency referrals from care homes to secondary care.

For an Integrated Care System (ICS) covering a population of 250,000, this would

equate to 150-200 referrals per year.

• 

• 

• 

For example
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